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o/ kcal/ o/ %
BW ME CP
4wk 6wk 550 72 83 232 13.1
6wk 8wk 1073 91 105 295 16.7
8wk 10wk 1643 104 120 335 18.9 283 173 45 335
10wk 12wk 2225 113 130 364 205 422 245 68 36.3
12wk 2 2777 119 137 385 21.7 554 313 90 379
86 2853 5.55 6.41 kg 17.9 Mcal 572 322 93 38.0
Q
o/ kcal/ q/ %
BW ME CP
4wk 6wk 490 60 69 193 109
6wk 8wk 878 76 88 245 13.8
8wk 10wk 1298 87 100 280 15.8
10wk 12wk 1731 95 109 305 17.2 315 184 51 34.9
12wk 14wk 2149 100 116 325 18.3 404 251 71 37.1
14wk 16wk 2528 105 121 339 19.1 485 312 89 385
112 2854 6.79 7.83 kg 23.6 Mcal 554 364 104 39.4
1 BW ME CP
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